In Exercises 55 — 59, = and y are in quadrant I, so we know that sec z = % = cosz = %,so

sing = é and tanz = ig Also,cscy =3 = siny= %,and S0 COSY = 233@, and
-1 V2

tany = A

55. sin(z +y) = sinzcosy + cos zsiny = 33@ . 23ﬁ +2.3=23(1++10).
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59. cos ! + TSy _ i + \/- (since cosine is positive in quadrant I).

61. sin 1(2 =1

57. tan(z+y) =

63. cos(tan™!y/3) =cos T = 1.

65. Letu= sin‘I% and so sinu = % Then from S
. ; S 12y _ 2
the triangle tan(sin™' £) = tanu = 7 AZ
21

67. cos(2sin7'1) =1 - 2sin’(sin"!}) =1- 2(%)2 =1



